“What are your views on the Moving around activity within the current PIP assessment criteria?”

My Response:

I am a disabled individual who currently receives the higher rate mobility component of DLA and has a car under the Motability scheme.

Having read the consultation document two things jump out at me immediately.

1. Your statement: “Our intention has always been to focus the enhanced rate on those with the greatest barriers to mobility.”

2. Your statement: “The benchmark of 20 metres was intended to allow us to distinguish between those who are effectively unable to get around due to reduced physical mobility.”

From my perspective the ONLY reason you have for changing the threshold from 50 metres to 20 metres is about reducing the cost of welfare expenditure.  It definitely has nothing to do with assisting those with the greatest barriers to mobility, because if it was then you would keep the benchmark at 50 metres.  All those disabled people who may fall outside the 20 metres threshold are going to be devastated and their lives made even more difficult than they are already.  It is extremely short-sighted to pretend that your intention is to focus the enhanced rate on those with the greatest barriers to mobility. When in actual fact those who do not meet the 20 metres threshold will still have extreme mobility issues.  It is all about saving money – nothing to do with assisting disabled people with their mobility.

Any person including myself who has a disability that stems from an extreme mobility difficulty has already had to change the way they live.  They can no longer do the things they used to do with ease.  It can be a humiliating and embarrassing experience to have to ask for help or assistance even with the most mundane things, like picking something up you have dropped on the floor, or asking for an appropriate height chair to sit on because you can’t stand for very long.

Life is difficult for a disabled person period. In order for the government to save money they are targeting disabled people as undeserving of the assistance they receive with the mobility benefit (higher rate under DLA and enhanced rate under PIP).

By moving the threshold from 50 metres to 20 metres you are just going to make life even more difficult for those who already struggle with their mobility problems.  Every disabled person has a barrier to mobility – what does focussing on those with the greatest barriers achieve?  You save money that is all.  What about those people who have been receiving DLA higher rate and now will only get standard rate PIP? You will save money.  You are not interested in the total disruption to the lives of those disabled people who will still continue to struggle with their mobility problems. Many of whom are dependent on a car for getting around and under the new rules will no longer be able to apply for a car under the Motability scheme.

Using the 20 metres benchmark is not about distinguishing between those who are effectively unable to get around due to reduced physical mobility, because all those people who fall within the 50 metres benchmark still have reduced physical mobility – you have just moved the goal posts to save money.

The people who fail the 20 metres benchmark but meet the 50 metres benchmark still have severe mobility problems.  If they have been assessed under DLA and receive the higher rate mobility, then it is quite clear they need assistance with their mobility.  By moving the benchmark the only benefit to the government is saving money on welfare expenditure.  It does not help all those disabled people who fall outside the 20 metres benchmark at all, because they will continue to have mobility problems but will receive less help.

Personally these changes are going to impact on my life hugely.  If I do not meet the 20 metres benchmark and receive only the standard rate PIP then I will lose my car.  If I lose my car then I might as well end my life because you will have taken away the greatest help to my mobility problems.  I am already depressed and so your decision not to help me with my mobility problems will increase my isolation and inability to go anywhere.  I cannot walk far enough to a bus stop.  Would not be able to board the bus and certainly not be able to walk very far once my journey on the bus had ended.  I would not be able to go out alone at all.  I already need to be accompanied when any kind of walking is required because I need someone to assemble my mobility scooter.  I would not be able to use it at all.  I will not be able to use taxis because the standard rate will not be enough money to afford them.

Even writing this all down is extremely distressing to think about. The impact of  not meeting the 20 metres benchmark and losing my car, all because the government want to SAVE MONEY and having nothing to do with assisting me with my mobility problems just makes me want to curl up and die.

I may meet the benchmark.  Because my mobility problems have increased since I was last assessed, so I may well be awarded the enhanced rate of PIP, but what about all those who do not meet the 20 metres benchmark?  Why should a ridiculously arbitrary figure, which seems to me has just been picked out of the air in order to save money, decide who receives help with moving around, and those who do not?  Those who fall outside the 20 metres benchmark are still going to have problems moving around – can’t you see that?

The 50 metres benchmark is a historical figure that still applies.  There are sound reasons why it was chosen in the first place.  By moving the benchmark 20 metres all you are doing is saving money and making the lives of thousands of disable people with mobility problems extremely difficult.

It is a load of rubbish to say that the reasons for the change are so that “these criteria could be applied consistently and would make it easy to differentiate between people who should be receiving the enhanced and standard rate.”  Make it easy to differentiate? How?  Save money, you mean?  The only differential will be a perception that one disabled person is more deserving than another, and that person will still struggle with their mobility problems, but the government will save money and that is all that matters from your point of view.

Your preferred option is totally flawed.
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